9/30 (£) ~10/1 (B) EEkEELHEEMERES (V4 > 7 kELERS)

# H % Al FE - FH X - B
Fl mE | 3EGKER 117 44 (-2.3)
HE WK | 3EHKBR 117 48 (-2.3)
hEF BLE | 1FEHER 117 36 (-2.2)
KEF  FEA 3FEHBER 117 58 (-2.1)
BF100m MA = 2 FEER 11”7 75 (-2.8)
HHER £ | 2E&%Ef 117 97 (-2.0
FER EE 2 FHER 11”7 80 (-1.1)
wAR (N | 2ETER 127 26 (-1.6)
=K HE | 15464E# 127 25 (-2.0)
EF1500m i) == N 1 FEme 4’ 33”7 69
=l BER 1 FE@R 17 02”7 16
EF400mH WA ¥EKEA | 1 FE@ER 59”7 14
AR BE 1 FAHE#H 1 01” 36
- AR RY 2 FHER 2mO0 6
a5H EA 3FEFEFR 2mo0 3
why BE 1 F=6ER 137 77 (-2.1)
ZF100m WA BhE | 2EFEER 14”7 05 (-2.5)
A &7 1 FEmht 14”7 60 (-1.8)
ZF100mH KEOE | 1ELER 16”7 07 (-2.3)
ZF400mH BAR L 1 F=HER 17 10” 66
ZFESB Hf £F 1 FEm 1m45
T EM 1 FEmf 4m1l16 (+1.9
T ENEL Ml B | 2FETER 4m58 (+3.5)
WA BhE | 2 F5EER Am84 (+1.9)
T FRINIR EH tiE 1 FEm 7m10




